Задача 

У девочки было три куклы. Ей подарили  3 кукол. Сколько всего кукол стало у девочки?


Условие
У     [image: ]    было    3 [image: ]. 
Подарили [image: ]      3   [image: ][image: ][image: ].


Вопрос
Сколько всего кукол стало у  девочки?
?  [image: ] стало у  [image: ].


Решение
[image: ] +[image: ][image: ][image: ]= ?
3       +    3      =     ?


Решение 


[image: ]+[image: ][image: ][image: ]=[image: ][image: ][image: ][image: ]


3    +      3   =    6
Ответ.
У  [image: ]стало 6[image: ] [image: ][image: ][image: ]. 
[image: ] [image: ][image: ][image: ]
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